Name Date

Unit 1 Review

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Melanie is solving 56 + 34. First she added 56 + 4 = 60. What does Melanie still need
to add in order to get the final result?

a. 60+ 34 b. 60 +56 ¢. 60+50 d. 60+ 30

2. Which is NOT equivalent to 1267

1 hundred and 26 ones
126 tens

1 hundred, 2 tens, 6 ones
1 hundred, 1 ten, 16 ones

a0 oo

3. Which sum is closest to 1007

a. 41+ 62 b. 33+ 68 c. 15+75 d. 20+ 83

4. Which sum is NOT equal to 1007

a. 51+59 b. 74+ 26 c. 6+94 d. 18+ 82



. Justin is solving 37 + 43. First he added 37 + 3 = 40. What does Justin still need to add
in order to get the final result?

a. 40+40 b. 40+ 37 c. 40+7 d. 40+ 30

. Which is equivalent to 1 hundred, 4 tens, 8 ones?

1 hundred and 38 ones
1,228 tens

1 hundred, 4 tens, 18 ones
1 hundred, 3 tens, 18 ones

o0 oo

. Which number is between 386 and 6837

a. 690 b. 402 c. 379 d. 283

. Which addition problem is modeled by this number line?

] —+»
133 140 A 208 227

a. 133+222 b. 222+ 89 c. 133+89 d. 7+60+ 22
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Suppose

= 100
stickers,

=1

= 10 stickers, and .
sticker.

Fran has 247 stickers. Which of the following shows 2477
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Suppose

I

= 100
stickers,

I = 10 stickers, and = =1 sticker.

Nicole has 224 stickers. Which of the following shows 2247
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